Exponential Growth Functions

*y = ab* for growth functions bis > 1

Exponential growth formula y = a(1 + )¢
a = initial amount  r = growth rate t=time period

Fine initial amount (a) rate (r) and

=+

time (t) then Graph each
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EXl) y = 2% 1
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Ex2) y =3:2% !
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(Exponential Growth )

y=ab*

b>1
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Ex3) y = —2-3%
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